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1. Which of the following statements is/are not correct?

1. The disputes regarding the election of President are enquired into by the High Court
and then an appeal may be filed in Supreme Court.

2. The governor is deemed to have vacated his seat on the day he is declared a nominee for
the post of President.

3. The pension of the judges of the Supreme Court and High Court is charged on the
Consolidated Fund of India.

Select the correct code

O 2and 3
O 1and?2
O 1and3
O1,2and3

2. Consider the following sources of the Constitution and the features borrowed from
them:

1. Canadian Constitution: Parliamentary privileges and bicameralism
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2. Australian Constitution: Concurrent List and joint sitting of Parliament
3. Weimar Constitution of Germany: Fundamental duties
4. Irish Constitution: Directive Principles of State Policy

Which of the following given above are correctly matched?

O 1, 2 and 4 only
O 2 and 3 only
O 1, 3 and 4 only
O 2 and 4 only

3. The second schedule of the constitution does not contain provision as to who
among the following?

O President

O Speaker of the House of people
O CAG

O The Chairman, UPSC

4. Indian federal system is based on:

O Canadian model
O American model
O French model

O Irish model

5. The difference between Articles 358 and 359 is given below:

1. Article 358 is confined to Fundamental Rights under Article 19 only, whereas Article 359
extends to all those Fundamental Rights whose enforcement is suspended by the
President.

2. Article 358 operates only in case of external emergency, whereas Article 359 operates in
case of both external emergency as well as internal emergency.

3. Article 358 extends to the entire country whereas Article 359 may extend to the entire
country or a part of it.

Which of the statements given above is/are incorrect?

O 1 and 2 only

O 3 only

O 1, 2and3

O None of the above






